Efficiency vs P,

— 0.8

ermciency vs p

0.1+

0.7E
0.6F
0.5F
0.4F
0.3F

0.2

.................................................

................................................

Ratio

0.95F1-+

OAG:

107 1 10 prT (Ge\})o3

TTbarDNN25

= 0.5p

[
>

0.35F

©
w
T

0.25F

0.45F

etficiency
o
D
T

- Pated-newpLONN
-upgate »T%E/arDNN
-updated-TT!

................................................

Ratio

0.95

Efficiency vs ¢

o 0.5
7 F:
> 0.45::

clency

0.15f
0.1
0.05E

A

0.4F -
£ 0.35F -
5} =

0.3f -
0.25F -
0.2f

FRVS)

Ratio

Bttt

-3

-2 -1 0 1 2 3
TP @



	Contents
	Page 1


